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Directions for the following items: Read the following
passages and answer the items that follow each
passage. Your answers to these items should be based
on the passages only.

freferaa wsien & forg fer: fforRRaa uReee) @) ufey
3iiv gcde gRese & 3R 37 aTel i & ST SOyl 39
HHT9T & 3Tqes IR 59 UR=oel UN & e 819 @i

Passage-1

What climate change will undeniably do is cause of
amplify events that hasten the reduction of resources.
Competition over these diminising resources would
ensue in the form of political or even violent conflict.
Resource based conflicts have rarely been overt and are
thus difficult to isolate. Instead they take on veneers
that appear more politically palatable. Conflicts over
resources like water are often cloaked in the guise of
identity or ideology.

gfReoe-1

STy aRad § TF A S ipTed wY W adl &, a8
geATN BT gfed BT a1 9T § R SR & 9 aa
S H 3iX doft et 81 39 e Sira E9TEE) B S0 B
qrelt ufereet & TRU e IomIfTE AT 3R oY fiRre e
AT ST 1 FATe-SeRe enf e & anft gevar §v
&, gl I RrerT U ¥ I@AT BiST BraT 1 36h T
ST GRS MNP AoHIaD BT A Pal ifd Tdrl B o
A AT Bl STT-ORF Gt & HUR 8 arer ey g
UG AT RRRERT & 497 &7 oaTer 3e W& 8l

1. What does the above passage imply?

(a) Resource-based conflicts are always politically
motivated.

(b) There are no political solutions to
environmental and resource based conflicts.

(c) Environmental issues contribute to resource
stresses and political conflict.

(d) Political conflict based on identity or ideology
cannot be resolved.

resolve

1. IR ufkess ot ffeare @ &2

(a) GETE-3eTRE Wead T oo & 3 R g &

(b) TafaRuii 3R WRATeA-3menRa el & wHre & foaw
B oIS gt T8 Bl

(c) TAfeRUN He WATHAT UR SaTE §91Y X 3R eI
e # YRS PR 8l

(d) IS IraT feRYRT U 3 Ioifad wey &1
FHATYT T & Haal

Passage-2

The man who is perpetually hesitating which of the two
things he will do first, will do neither. The man who
resolves, but suffers his resolution to be changed by the
first counter Suggestion of a friend—who fluctuates
from opinion to opinion and veers from plan to plan-
can never accomplish anything. He will at best be
stationary and probably retrograde in all. It is only the
man who first consults wisely, then resolves firmly and
then executes his purpose with inflexible perseverance,
undismayed by those petty difficulties which daunt a
weaker spirit—that can advance to eminence in any
line.

uRese-2

Sit s fFRaR 39 feaftparee & <ear & fp &Y e 9 & ey
g BN, I8 ST § | DI o T8 Hm Y Afeh HWeped BRaT
g, oifthT St @re & fonedt sy gRT g 1Y uger goima R &
U WHeY BT TG ST 8- ST ST b 1T P G T &
e SRT-BT AT I6T & 3R e AIGHT ¥ A AIoFT
X I IET 8- T8 Fonedt oY <ot Y Y qRT T8} v T
SATET W SATET 98 I ST M, 3R Avarer: ol il § fio
g1 M Y @ uge Raeyd® vt e g, R 3o
Hfrsal § fnffe a7 wa sree gadr I 3 Il B WM
AT & PaeT I afeh et off e F Icaf #r 3R T 78
T Bl

2. The keynote that seems to be emerging from the

passage is that

(a) we should first consult wisely and then resolve
firmly

(b) we should reject suggestions of friends and remain
unchanged

(c) we should always remain broad-minded

(d) we should be resolute and achievement-oriented

2. 59 uReDT & frder arer JervTa 7T 57

(a) T uge feyde urrTel AT a1y, fRR gg W
PHRAT AT

(b) & Rl & Femal BT FHR AT AT SR BT I9°
YT I IR BT & A1V

(c) & R ¥ 99 IeR g eyl

(d) & F3T FoawHey SN SuafRy-rfirg T anfy
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Passage-3

During the summer in the Arctic Ocean, sea ice has
been melting earlier and faster, and the winter freeze
has been coming later. In the last three decades, the
extent of summer ice has declined by about 30 per cent.
The lengthening period of summer melt threatens to
undermine the whole Arctic food web, atop which
stand polar bears

ufeoe-3

e FEMITR & e 36q & SR AT T &P
fre ggel SR ISl ¥ R @ &, iR Ma wg Hrah &
T 7 31fre < o %8 21 Rroer A el #, Ao wq
&Y i T aRETOT TR 30 TR T Te T 31 -
T 6T STafr & o 8 S W wegut aeh e weroTe &,
foref gt orrer o oR €, RmT-Re=t & oI @1 e
AT AT 7T 2

3. Which among the following is the most crucial

message conveyed by the above passage?

(a) Climate change has caused Arctic summer to be
short but temperature to be high.

(b) Polar bears can be shifted to South Pole to ensure
their survival.

(c) Without the presence of polar bears, the food
chains in Arctic region will disappear.

(d) Climate change poses a threat to the survival of
polar bears.

3. I uRess W, Frafafad & & s waffe

frofaes wwer < B 87

(a) Sty aRed & BRI, 3Thfeed Ao 3w sreurafs
Y ORI AT ATl &1 TS &

(b) GAT AT BT ITRSHTIT BT AT B & foag
3¢ el ga % wermiaRe fmar S w1

(c) YT I3 B T & A Thfeen & P Trer-gRaey
FH BT ST

(d) STy afectT 3 gee HIeel i STReieaT & fog
Jfehe IeuT &1 T Bl

Passage-4

Why do people prefer open defecation and not want
toilets or, if they have them, only use them sometimes?
Recent research has shown two critical elements: ideas
of purity and pollutions, and not wanting pits or septic
tanks to fill they have to be emptied. These are the
issue that nobody wants to talk about, but if we want
to eradicate the practice of open defection, they have
to be confronted and dealt properly.

Revs-4

AT AT Ger F it ST SATT TS R & 3R efeery
T & ATEd, AT R aT eitETerT § & SHET SuART
it € PR 82 BTeT b JATAUTT F & WY a1 AT
TE &: & SR yEwur & R, iR 7 arer 5 Tee ar
Aftes & W, FIfP I Tl FAT ST A F T &
1T o= IS 1T TE e =T, AfteT af g et it
Y ST T FHeTT BT AT 8, Y §7 & BT AT BRAT
BN 3R SR wfere s & foroesr @vm

4. Which among the following is the most crucial

message conveyed by the above passage?

(a) The ideas of purity and pollutions are so deep-
rooted that they cannot be removed from the
minds of the people.

(b) People have to perceive toilet use and pit-
emptying as clean and not polluting.

(c) People cannot change their old habits.

(d) People have neither civic sense nor sense of
privacy.

4. Sfw ufveos W, Frafafea & & si-a1 waffte

frotfae =aer <o Brar 872

(a) ST 3R TGO F RaR s T TR E 5 S
A & R F gerT T8 9 W

(b) I BT TS B1T fop efeTerd BT SUANT 3iR Tl
T Tl AT ST et Y 1T & 7 6 srergar

(c) NT 7O QRIT STTel Y gaeT T Wapell

(d) @i & 7 aY AR dver & 3R T & Cpiaar (TmEa)
Eakiickd

Passage-5

In the last two decades, the world’s gross domestic
product (GDP) has increased 50 percent, whereas
inclusive wealth has increased by a mere 6 percent. In
recent decades, GDP-driven economic performnce, has
only harmed inclusive wealth like human capital; and
natural capital like forests, land and water. While the
world’s human capital which stands at 57 percent of
total inclusive wealth grew by only 8 percent, the
natural which is 23 percent of total inclusive wealth
declined by 30 percent worldwide in the last two
decades.

uRese-5

froer & gl H, frer & Waber TR ScUTE (GDP) H 50
wfirerd #t gfe &8 & STafd wEaett weueT A 6 uftrera
g3 21 BT P <RI ¥, GDP- Wanferd anffe freareT 3
aTa gort Srit FETaelt WEET A SR ST, SR O ool
SR STpfires AURT BT et &Il & agers 1 froer &
geret ¥, frer it AT AT, S Por TRt WEORT @7 57
aftrer 8, daer 8 ufcrera & 961, STafh Aipfore =T ¥,
S ot ARl wEueT BT 23 wirerT g, frERR W 30
wferere &t fiRrae 3rs)
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5. Which of the following is the most crucial inference

from the above passage?

(a) More emphasis should be laid on the development
of natural capital.

(b) The growth driven by GDP only is neither desirable
nor sustainable.

(c) The economic performance of the countries of the
world is not satisfactory.

(d) The world needs more human capital under the
present circumstances.

5. frafefaa & & @9-w1, Sudw uReds @1 waiftes

ferorfaes fersad (gwhvT) &2

(a) WHfrE wFuaT & R W iR i aer fear s
TTfEl

(b) FaeT GDP-WaIferd wafg = o aowa &, 7 &
YR B

(c) e Jomt o1 enfiep frrsuTe Aarso® & 81

(d) e aRfrefim 7 forer @1 3R a1 A ot Y
TaeghaT &l

Passage-6

By 2020, when the global economy is expected to run
short of 56 million young people, India, with its youth
surplus of 47 million, could fill the gap. It is in this
context that labour reforms are often cited as the way to
unlock double-digit growth in India. In 2014, India’s
labour force was estimated to be about 40 per cent of
the population, but 93 per cent of this force was in
unorganized sector. Over the last decade, the compound
annual growth rate (CAGR) of employment has slowed
to 0.5 per cent, with about 14 million jobs created during
last year when the labour force increased by about 15
million.

gReeg-6

2020 T, S Af¥ep 3refcaaverm ¥ 5-6 wRre (56 ffer™m)
JaTSiT T HHT BI BT JTAPT & TT WA 3T 4-7 FRIS (47
firferar) srfrery garail & 5 I BT T R FHAT 1 HRA
% 2 sl ¥ faret Fredeh B & v R & B F 89 guRt
BT St Wl § o I T ST 212014 ¥, R v
S SIFAEAT BT T 40 HfTerd 8 &I 3ATeher T,
AT ST T T 93 UfTera SRTfa &1 ¥ om former o) gerep
% SRR 6t Tepgfeg aTiier dgfe &% (FFATSS TIaTer TTe Xe-
(CAGR)] 0.5 Hfter o &< & gt off, Siet froer a¥ &
SR T 1.4 RIS (14 fifera) AeRar gir g8 s fe
Sraet H T 1.5 B91S (15 fifera) i gfg g8

6. Which of the following is most rational inference from

the above passage?

(a) India must control its population growth so as to
reduce its unemployment rate.

(b) Labour reforms are required in India to make
optimum use of its vast labour force productively.

(c) India is poised to achieve the double-digit growth
very soon.

(d) India is capable of supplying !lt, skilled young
people to oil, countries.

6. Frafafea & & a1, 3w uReve &1 waffe

aTfehen frrsee (57v) 57

(a) WRT BT IO TAGEAT gfg UR 37ae & iz BT
1Y, T1feh ST SRASHTRY &% B & Tl

(b) WA P fIeTTeT S BT ScUIEH WU W ST SUANT
TR P G WIS o 57 R D ST 21

(c) YRa 3rfereiier ar il &1 bRy UTH &R & AR
TR B

(d) WIRA 3T AT B HIeT-ATH Faradt dr qif e &
HerH Bl

Passage-7

The very first lesson that should be taught to us when
are old enough to understand it, is that complete
freedom from the obligation to work is unnatural, and
ought to be illegal, as we can escape our share of the
burden of work only by throwing it on someone else’s
shoulders. Nature ordains that the human race shall
perish of famine if it stops working. We cannot escape
from this tyranny. The question we have to settle is how
much leisure we can afford to allow ourselves.

qReve-7

HaA UgelT UTS, S g5 O« USRT ST a1fey o &9 S
e W G AT TGP &, SR T IR S
IRy, TP & BRI-UR & 30 Y A Paer aoft =
A &, 1T &9 39 el R & el oR ST 1 Ty Y A
forerT fopaT & foF Aea v, I PRI AT ST AR S, ar
YT A TE 8 S 89 50 FRperar § a9 T8 wadt 2
& S0 Y B AT 9 R & som-smmunt e
3rqrepTeT 3 Tt & Wehd

7. The main idea of the passage is that

(a) itis essential for human beings to work

(b) there should be a balance between work and
leisure

(c) working is a tyranny which we to face

(d) human’s understanding of the nature of work is
essential

7. S9G UfeDT #T I8 7 e & 6

(a) =Tl & forg T srmaeas g e & @ A

(b) T T STABILT & TE HeT ST MY

(c) B BRAT U FRPerT & AT 85 AT BT &
ST Bl

(d) TSI & forq e Y T Ty Y AT ST Bl
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Passage-8
There is no harm in cultivating habits so long as they are
not injurious. Indeed, most of us are little more than
bundle of habits. Take away our habbits and the
residuum would hardly be worth bothering about. We
could not get on without them. They simplify the
mechanism of life. They enable us to do a multitude of
things automatically, which, if we had to give fresh and
original thought to them each time, would make
existence an impossible confusion.

gReee-8

TN BT UTAT R H P &I 78T 8, 59 b 6 I et
BIfPRS T Bl aRag § s W 3Tfyehier @i, 3nedl &
gfeis & amIE PO sifte & wafer B 81 89 S1ur
3Tl F 6 8 TR A Y T S O 9IS 8 IS e
T AR B9 S 4T TE TeT Webdl| A Sitae Y gipar B
AR qTT &1 379 89 qed-1 Aol U T R F ek
B € e, aft 89 &R AR a7 iRk Hiftre R 9w
BT ATE, AT IR<TeT Yo WG SeTS & STyl

8. The author suggests that habits
(a) tend to make our lives difficult
(b) add precision to our lives

(c) make it easier for us to live

(d) tend to mechanize our lives

8. IS ST YT ¢ foh et

(a) AR SNa" B BFST T &l
(b) TAR SNa H AHaT Tl &
(c) TR foTg ST STRATT el &
(d) B9R SNa= B 7efi a9l 8

Passage-1

We have hard work ahead. There is no resting for any of
us till we redeem our pledge in full fill we make all the
people of India what destiny intends them to be. We are
citizens of a great country, on the verge of bold
advance, and we have to live up to that high standard.
All of us, to whatever religion we may belong, are
equally the children of India with, equal rights,
privileges and obligations. We cannot encourage
communalism or narrow mindedness, for no nation can
be great whose people are narrow in thought or action.

gfese1

TR AT HOR TR 21 ST T & 370 HUT Y Hofer: q=
TE B o, 9 b T IR S T} A DY a8 T8 97 I
S for frafey amecht & foF I 21, 99 d & A RN @1 eTRT
eI BT 21 9 T HET 92T P AN &, AT TRT 6 HIR
w &, 3R g S Sou angef aY Sfiaw ¥ SarAT 81 &9 wft,
T7e &9 fopeit oft et & &, T BT ¥ uRd Y Fae & 3R
R PR, fRREReR IR g w—eR & &
AFUSTRIGAT AT AFRTE |HfAr B gem@r T8l § |hd,
T IS WY Sor, RrTeh T RFaRY 3reraT rraRvr F Wehiof &,
TE T8l 8 WandTl

21. The challenge the author of the above passage

throws to the public is to achieve

(a) a high standard of living, progress and privileges

(b) equal privileges, fulfilment of destiny and political
tolerance

(c) spirit of adventure and economic parity

(d) hard work, brotherhood and national unity

21. IuYth UREVT BT oG AT P AT ITH BRI Y Ikt

aTE?

(a) S oiae aneef, Wil iR frdmierR

(b) T frdwifeR, frafy @ guiar sk IR
wfesoye

(c) TERIE ST SR e WA

(d) POR RS, UTSHART 3R AT TehaTl

Passage-2
“The individual, according to Rousseau, puts his person
and all his power in common under the supreme
direction of the General Will and in our corporate
capacity we receive each member as an indivisible part
of the whole.”

uRese-2
@l P TN, Sfeh ST T BT 3R AU 1 20feh BY
Aftafaa ©U ¥ TH-ideT (SFRe T & wated fder &
ST T &, 31R T MU TR & § SR Wew
@1 et & ifafeseT afer & wa § ot 81"

22. In the light of the above passage, the nature of

General Will is best described as

(a) the sum total of the private wills of the individuals

(b) what is articulated by the elected representatives
of the individuals

(c) the collective good as distinct from private wills of
the individuals

(d) the material interests of the community

22, I UReDT & AR, Frefafad § & siF-ar wHfe-

(a) caferal & Fafthed STOT3N BT Per AT

(b) =afral & fraffra ufifReaY gRT o o Her =T R

(c) WMfE® Heamr St fnal H Jafehd georel A feT
8l

(d) ISR & axquee (FHRaen) faa
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Passage-3
In a democratic State, where a high degree of Political
maturity of the people obtains, the conflict between the
will of the sovereign law-making body and the
organized will of the people seldom occurs.

qReve-3
Apaite ST F, Sfer anl ¥ 9T Pife i Aorifae
aRRuerear gt &, wdarert fififemiar e & Ao
3R ST & ST Hehew ¥ el & Fend grar 81

23. What does the above passage imply?

(a) In a democracy, force is the main phenomenon in
the actual exercise of sovereignty.

In a mature democracy, force to a great extent is
the main phenomenon in the actual exercise of
sovereignty.

In a mature democracy, use of force is irrelevant in
the actual exercise of sovereignty.

In a mature democracy, force is narrowed down to
a_marginal phenomenon in the actual exercise of
sovereignty.

(b)

(c)
(d)

23. SuYh ufkes o1 a1 ffiaref &7

(a) @GS ¥, APYAT B ARAID qIeT H, I T T2
BT B

(b) uRuea Arpas H, AT $ IRAID qTerT ¥, g T
T T T T e BT Bl

(c) uRuea drepds §, WIYAT & aRAfI® qTerT 5, e @1
TN URIRD Bl

(d) oRuea dredas ¥, AYAT & dR<fS 91§, 9
TEPHR U SUifre a2 (ATFofeer weifmi) X8 ST 21

Passage-4
A successful democracy depends upon widespread
interest and participation in politics, in which voting is
an essential part. To deliberately refrain from taking
such an interest, and from voting, is a kind of implied
anarchy, it is to refuse one’s political responsibility
while enjoying the benefits of a free political society.

ufeoe-4
Ahe Al oI § @I BT g YrERT ) ik
AT &, T TR UF Naedd 3T B TGS 39
UPR T BRI T IGET R AGSH T BRAT, TP DR B
e SRTSThAT &; I8 Faas IISfd I & ol
T ITHRT FRA §Y ST IITres STRIed 3 g i 21

24. This passage relates to

(a) duty to vote

(b) right to vote

(c) freedom to vote

(d) right to participate in politics

24. T8 qReoe frasy arafeud &2
(@) AFSH FTSIRcal

(b) A BT ARBRI

(c) AIe™ $ FaaadEl

(d) IoFIRT F YRTERY 31 1R

Passage-5

In a free country, the man who reaches the position of
leader is usually one of outstanding, character and
ability. Moreover, it is usually possible to foresee that
he will reach such a position, since early in life one can
see his qualities of character. But this is not always true
in the case of a dictator; often he reaches his position of
power through chance, very often through the unhappy
state of his country.

uRevs-5
&R vads Sor ¥, 7ar 6 Rufr q@ ogem arenm @fe
WHTIG: IcpE IR SR AT arer afeh T §1 395
T &Y, BT YA B T off WHI: W 8 &
& Sus ARG o B J@T S wear 3 Reegfed
TIILE & AT ¥ UE THLT e TEI EIT; a8 I 7Y
T ot Reaafey e T & g ST &, 3 IR ar Rk
3o o1 Y gars Freafir & aroT €

25. The passage seems to suggest that

(a) aleader foresees his future position

(b) aleader is chosen only by a free country

(c) aleader must see that his country is free from
despair

despair in a country sometimes leads to
dictatorship

(d)

25. 397 IRE8T § I8 AT 7 i g & o

(a) ¥ 3ttt T Reerfey T qafgA R o B

(b) =T Rt =t e ST & ERT & FAT ST B

(c) Tt off AT Y 3 91 IR & AT ATRY foF SHBT
o1 FoTem 9 7 j@

(d) fRAt o1 & o0t g8 Fmrem & aRofy ittt
TS ¥ B Bl
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Passage-6

The greatest blessing that technological progress has in
store for mankind is not, of course, an accumulation of
material possessions. The amount of these that can be
effectively enjoyed by one individual in one lifetime is
not great. But there is not the same narrow limit to the
possibilities of the enjoyment of leisure. The gift of
leisure may be abused by people who have had no
experience of making use of it. Yet the creative use of
leisure by a minority in societies has been the
mainspring of all human progress beyond the primitive
level.

aReve-6

depeieht sy § ffee Ama-onfy & fog we g91 a”EE,
¥ B 3, il weaaT @7 W TS 81 ARl e & awr
ST F 3T fIaT 91T BT aRfee ©T 3§ STWRT AT ST
ST 8, 8 95 SAftre T 81 fheg PR & WHT & STURT
Y TS S Fehiof Wrr 7 Wit 78 61 e prea &
T & IUER F FGUART BT FHY 3w T8 e &, F @
ST GOUANT &R et 81 AR ofF, TSI 6T e STeu=ieT R
BRAT P THI BT IAACHD IJUANT P ST & 3T Wk &
q1e Wit ATT-IATRT T I AR 6T 81

26. With reference to the above passage, the following

assumptions have been made:

1. People always see the leisure time as a gift and use
it for acquiring more material possessions.

2. Use of leisure by some people to produce new and
original things has been the chief source of human
progress.

Which of these assumptions is/are valid?

(a) 1lonly

(b) 2only

(c) Both1land2

(d) Neither 1 nor2

26. IR UReoT & wwaf 7 FrreiferRae qdemon & &= ¥ &
1. PREA & THI BT AN AT SUER & ©F H ST & TAT SHHT
IUANT 3R 3rfres wiiferes weueT Ifia e & forg Bver &1
2. PO AR ERT GO & A9 BT, Ta7 SR Hiferp il 5
IeuTE & forg, ST feFaT-oTrT € wrra-sfy @ 7T |
<ET &

T A BIF-9T GERU/IAROS e 8782
(a) Paer1

(b) FaeT 2

(c) 1323

(d) Tar13RTE2

Passage-7

There is more than a modicum of truth in the assertion
that “a working knowledge of ancient history is
necessary to the intelligent interpretation of current
events”. But the sage who uttered these words of
wisdom might well have added something on the
benefits of studying particularly the famous battles of
history for the lessons they contain for those of us who
lead or aspire to leadership. Such a study will reveal
certain qualities and attributes which enabled the
winners to win—and certain deficiemcies which caused
the losers to lose and the student will see that the same
pattern recurs consistently, again and again, throughout
the centuries.

gRees-7

39 fime § ffaa & o8 aife wears © f5 wmiRie
gerell it giegmamyl @ & g arie sRerr @t
PRIATYS F9 ST 3TMaedd &1 fergfore gfgam 3 aserdt
¥ ¥ oree B2 9, IW Y wU A shE™ H ufrg de=a B
AT W BN ATl BRIET WX 3R & PV-A-HB Pl 8N,
FRINfF 3T T § I Y Waes enfirer & S e ava & AT
AT g T SARHATST & &1 397 TRE & AT | PV W 00
3R frdmad Sgrfea eift, Ry faroraren & forg sha afkenfera
§s- 3R I oferrr st off, R ST aR aret 6 BR g
iR feremeft o7 <@ fF I wfeew AfRAY F FER, IRER
g g 8l

27. With reference to the above passage, the following

assumptions have been made:

1. A study of the famous battles it history would help
us understand the modern warfare.

2. Studying the history is essential fin anyone who
aspires to be a leader. Which of these assumptions
is/are valid?

(a) 1only

(b) 2only

(c) Both1land2

(d) Neither 1 nor 2

27. I9Yeh URedT & wea § FrmfaRad qdemond g r$ 7 &

1. R & firg asTsal @1 s & smyfre gefefy
Y G H WETIAT B

2. S Y ea Y geBT @ &, S g SRS BT sreTae

Sifvrart 81 ST & BI-3AY qeferRoTT/genRome der 8/ 52

e 1

et 2

1 3R 2 =1

Far1RTH2

(a)
(b)
(c)
(d)
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Passage-1

Disruption of traditional institutions, identifications and
loyalties is likely to lead to ambivalent situations. It is
possible that some people may renew their
identification with traditional groups whereas others
align themselves with new groups and symbols
emergent from processes of political development. In
addition, political development tends to foster group
awareness of a variety of class, tribe, region, clan,
language, religion, occupation and others.

aReog-1
UREIRTT WERIT, Al SR fsre & e & Sr-avwr
(ftsdeie) Rrafat Scovw 89 H wraTaHT Bl 31 I8 w79 &
Safer a1 =T oI fyre At ufiparai & Seu= 8 arer
U el SR APl B AT G BT AS Al 0P AR,
FHE-ATHT BT AT H B

41. Which among the following is the best explanation

of the above passage?

(a) Political development is not a unilinear process for
it involves both growth and decay.

(b) Traditional societies succeed in resisting positive
aspects of political development.

(c) It is impossible for traditional societies to break
away from lingering loyalties.

(d) Sustenance of traditional loyalties is conducive to
political development.

41. frr=fafad ¥ & S19-0 1@ Sudw aReus 6t adirs @

&7

(a) ToTIIferen forepTRT Gep fyem & T arelt wfthar 78 &, Fifs
T Wl ofiR ERT ST enfrer Bt B

(b) TRFUIRTT WIS RIoHad e & AhRICHS el a1
TR B H Ahel Bl Bl

(c) TRFIRTTA TSl & fg, oy s & &1t g§ fovmrail & 96
& 9T 3R B

(d) TRFIRFT 813N BT SFTY RGAT IS e o werd
g Bl

Passage-2

There has been a significant trend worldwide towards
regionalism in government, resulting in a widespread
transfer of powers downwards towards regions and
communities since 1990s. This process, which involves
the creation of new political entities and bodies at a
sub-national level and an increase in their content and
powers, is known as devolution. Devolution has been
characterized as being made up of three factors—
political legitimacy, decentralization of authority and
decentralization of resources. Political legitimacy here
means a mass demand from below for the
decentralization process, which is able to create a
political force for it to take place. In many cases,
decentralization is initiated by the upper tier of
government without sufficient political mobilization for
it at the grassroots level, and in such cases the
decentralization process often does not fulfil its
objectives.

gReeg-2

X forey & @R ¥ AT @ g Hewaqel ugfa & g, e
aRUTRET 1990 & T T &1 3TN TR BT AR 7T BT
WUF YR IR BIaT 6T &l 39 Hfshar &1, fras
ST STERTSENT (V- 2TFeT) TR UR 7 oo W 3iR
forrr sy & T ST e 3R ofth ¥ gfg B}, f-
R (Sraeger) @edt 81 afy-frer 6t frerwar & 5 ag &=
gehl W e AT 8, T Ueh RIS dedr,  \wr &r
frp=<YBRUT 3R HRATERT BT RhesiehRuTI T&T oI derar o
3mer & fraer SeEr § frebesitesor @ aftear & g Se
B Y T Bt ¥1 B Tl ¥, MR woR o) s fog
wafg Werifte WoeT gy AT & weR & Sud TR A
frpesipRoT FT URFAT URFY AR &) Sl §, 3R W At §
fRrpesianRoT Y HfSFaT T 37O Ieed X S Y uTch

42. Which among the following is the most logical,
rational and critical inference that can be made from
the above passage?

(a) Emergence of powerful mass leaders is essential to
create sub-national political entities and thus
ensure successful devolution and decentralization.

(b) The upper tier of government should impose
devolution and decentralization on the regional
communities by law or otherwise.

(c) Devolution, to be successful, requires a democracy
in which there is free expression of the will of the
people at lower level and their active participation
at the grassroots level.

(d) For devolution to take place, a strong feeling of
regionalism in the masses is essential.

42. IR aRews F Frafalad & @ si-a1 waife aifés,

TG R ferareTeH® foeey (37hRT) fFeBTeT ST epar &2

(a) STERTSERT IoHIfaP [Tl & FHiT & v iR 59 a_e
wwma  uf-fem iR fedevor gfifa s & g
TfRBeTTel ST STaiY BT SURAT 3rferart &1

(b) AR & FUI WR A & TERN R, ST FRT AT
argeT, Ul iR Resitasor @ iR fear
SIET =TT

(c) WfI-RrdrT B Thel 8 & AT WY Adais B e Bt
3R 3meTRe TR W) 6 Gfthr yrfiert an

(d) ufT-RreprT 8 & forg ST & &rare Y deer waAT et
ATTTD Bl

Separate explanation videos are available in English & Hindi

s 3 B # srerer-3rerer difgAY sqcretr &

www.allinclusiveias.com | UPSC/PCS |

CSAT

Class-16 | Page-127 | @© AllInclusive IAS




Preview PDF —

Pending Review

Passage-3

We live in digital times. The digital is not just something
we use strategically and specifically to do a few tasks.
Our very perception of who we are, how we connect to
the world around us, and the ways in which we define
our domains of life, labour and language are hugely
structured by the digital technologies. The digital is
everywhere and; like air, invisible. We live within digital
systems, we live with intimate gadgets, we interact
through digital media, and the very presence and
imagination of the digital has dramatically restructured
our lives. The digital, far from being a tool, is a condition
and context that defines the shapes and boundaries of
our understanding of the self, the society, and the
structure of governance.

gRTes-3

&9 fefitee @1 ¥ Y& 81 fefiea R &Y B Do 78 &
T SwarT sRiifie B & Sk faftre 3k w po ot ot
ORT 6= & fAQ AT ST 81 89T I8 Sedel-a1 6 89 &1 &,
3R SR 9RT AR $T i+ A &9 fF IeR e &, 3R I ¥
I &9 31Ue Sfia, 37T SR WTST & J9Ta-&1 31 gy
XA &, 98 WM R fefiree danfifeal Rt & &= &
fefitear &2 ST RerT= & 3iR gaT Y avE orged 81 &9 fefirea
AT P 37X V& &, B =N IIoie! (Gadgets) P AT Sie
fefreer it Aot qom SHH FeuT 3 IR Siaw HY yruTaemed
T A gRRFT F far 21 fsfea, Rt g Suesor A1 89 &
31frp, a8 qe 3R Wva & O §R JITeH-aY, |WHTS-aY &R
QTR R &1l 3 TR 3R WAret B gk aar 21

43. Which among the following is the most logical and
essential message conveyed by the above passage?

(a) All problems of governance can be solved by using
digital technologies.

Speaking of digital technologies is speaking of our
life and living.

Our creativity and imagination cannot be expressed
without digital media.

Use of digital systems is imperative for the
existence of mankind in future.

(b)

(c)
(d)

43. fr=fafed & & Si-a1 Faifye aifée ik TRT e 8,

i SuYeh IRESE BT & fopaT 1T &2

(a) TEfree srenfiferal T ST—T HR A 6T Tt T3
BT HTIT AT T WeherT 81

(b) feforee senfiferal Y a/a &A1 e9R Shad @ik ShaTeaf
Y T BT R

(c) TR =ATCHGaT 3R Pounr B f&foreer areawl & fFT
tfreeh & fopaT ST e

(d) fefiteer Tt &1 SuANT ufsr ¥ aFg & 3fca & fog
TS B

Passage-4

The IMF has pointed out that the fast growing
economies of Asia face the risk of falling into ‘middle-
income trap’. It means that average incomes in these
countries, which till now have been growing rapidly, will
stop growing beyond a point—a point that is well short
of incomes in the developed West. The IMF identifies a
number of causes of middle-income trap—none of
which is surprising—from infrastructure to weak
institutions, to leas than favourable macroeconomic
conditions. But the broad, overall cause, says IMF, is a
collapse in the growth of productivity.

gReT-4

IMF 5 €27 e & fop o <t ool & st arefeaawaan &
e HeH-IY ST (Rifset-g=aH 2u)' F ug 9N &7 Aahe a1
AT 81 ST 3P I & 6 37 Qo Y i o, o 6 o
T Aol A Foit W B, TP g A A g a9 AR - Y
farg o 5 Rrfre afdel P it o & BT B B IMF,
TR AREAT | IR PHAR AT TF R T0ai ®I F
It FHIE-3TTTE (APIFPIID) SATH Teh, TeAH-3TT STl
% DS PRUN P UEAT HRT &-FF A BIS Wt merio T8 2l
TR, IMF & g fF Aewmaur o Scuresar i gfg § frmae
2

44. Which among the following is the most logical,
rational and critical inference that can be made from
the above passage?

(a) Once a country reaches middle-income stage, it
runs the risk of falling productivity which leads to
stagnant incomes.

Falling into middle-income trap is a general
characteristic of fast growing economies.

There is no hope at all for emerging Asian
economies to sustain the growth momentum.

As regards growth of productivity, the performance
of Asian economies is not satisfactory.

(b)
(c)
(d)

44. S9w aRedR ¥ Frafaaa ¥ ¥ -1 waifis arfés,

THET 3R RrererTede forsene (37HRT) FrepTerT T WepaT 82

(a) Rt Qo & TIW-IT vl § Ugd S W IWh
IUTSHAT F g 81 BT T BT 7, Forady aRumRaea
T Y gfg B ST B

(b) TETH-IT STTeT & HTT Aol W ¢ V&I rfcaaeiai # tm
AT fereroar g1

(c) SR i IwRelt g8 erefegavenalt & forg gfg & afy &t
THTT I FT BIS 2T T 8l

(d) STET I Scuredar Y afg BT UM 8, TRET At srfeaavenai
T frsuTesT Ao T8l 71
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Passage-5

An innovative India will be inclusive as well as
technologically advanced, improving the lives of all
Indians. Innovation and R&D can mitigate increases in
social inequality and relieve the pressures created by
rapid urbanization. The growing divergence in
productivity between agriculture and knowledge-
intensive manufacturing and services threatens to
increase income inequality. By encouraging India’s R&D
labs and universities to focus on the needs of poor
people and by improving the ability of informal firms to
absorb knowledge, an innovation and research agenda
can counter this effect. Inclusive innovation can lower
the cost of goods and services and create income-
earning opportunities for the poor people.

gfeve-5

TavacHEN (FHafed) YR ALl 89 & AT senfihr
¥ off S e s it wRdRT & Sie § guR SR
TAvET TAT R&D TG §F WM SIAHIAT BT $9 &%
[H & SR G AEABRT I I & aTel q@ral F qeh B
a8 Py iR o s (Areror-8Rma)  Frfor siik Jarsi
& S SeuTeHeT ¥ 9o g i W, ISR & 95 T
GERT &1 YRS BT R&D TANTEETSH 3R Rrarfrererdt Y 1o
NI T SRRl R I WS & {7 diewfed #) qer S-
o & AT sFtaTRe UfsMT i emar ¥ S+ @R, @
AT SR SITAUT BRIDHH S THIT BT ATHAT B AT 2l
W&ﬁqauaﬁqmsﬁ'\rwm P AARTT DY BT PR Fehell &
amn‘&zraﬁ?ﬁ%ifmmmﬂim IeUT PR AT gl

45. Which among the following is the most logical and
rational assumption that can be made from the above
passage?

(a) Innovation and R&D is the only way to reduce rural
to urban migration.

(b) Every rapidly growing country needs to minimize
the divergence between productivity in agriculture
and other sectors.

(c) Inclusive innovation and R&D can help create an
egalitarian society.

(d) Rapid urbanization takes place only when a
country’s economic growth is rapid.

45. fr=fafaa & @ PN waife afbe iR ahem

TR 2, St o Sufeh afveds & aTs o wanclt 82

(a) wiat X oTERt ¥ YA BT FH FF ¥ R¢ AT qor
R&D & THHTH IRT Bl

(b) o ¥ e 8 arel I o7 Y HY SR 3 & H
IUTEHAT & Yer g Y = R T ST Bl

(c) WHTaeR TavEc T R&D UH WA FHST a9+ H
WEAT B AP &l

(d) ST QTEABROT heret it BN & T fedt ot ot e gfg
Tt Sl 21

Passage-6
Climate change is likely to expose a large number of
people to increasing environmental risks forcing them
to migrate. The international community is yet to
recognize this new category of migrants. There is no
consensus on the definition and status of climate
refugees owing to the distinct meaning the term
refugees carry under international laws. There are still
gaps in understanding how climate change will work as
the root cause of migration. Even if there is recognition
of climate refugees, who is going to provide protection?
More emphasis has been given to international
migration due to climate change. But there is a need to
recognize the migration of such people within the
countries also so that their problems can be addressed

properly.

Rees-6

T8 WUTT & i STerarg afRaci & HIRUT 980 a1 6T A ArT
Fod §Y waferviir Siftew & g ST SiR weRawy Saw &
forg feraer 81 ST SFRISEIT W BT HaTRiT 6t 5 7 Soft
&1 ggaT anft BT B1 SRISEIT BIAT & Sieria eRumeff ereq
BT U JEUE I B F IRV, AR & DR N ATl
eRonffaT $r gl &k Rufey ) a1 wdwfy T8 &1 a8
a1 3l ff WHH | AR © 6 Sterarg aRecd T g & Ao
BROT & HY F $A B XM AR Sarg F HRT N Al
eRuTfA it ugE B, T9 off S GRET BT U FRM?
STeraTg aRac & HROT A SFRISERT Haw I IR FEl Afew
o1 e T 81 R AL § 6 Serarg-srrfee A %,
Qo & SR F gY AT B ff ggEr B AQ A I
TEITSN BT I PR A X Rpam 5T el

46. Which among the following is the most logical and

rational assumption that can be made from the above

passage?

(a) The world will not be able to cope with large scale
migration of climate refugees.

(b) We must find the ways and means to stop further
climate change.

(c) Climate change will be the most important reason
for the migration of people in the future.

(d) Relation between climate change and migration is
not yet properly understood.

46. SuYH TReoT N, Frfaied § & SiF-a1 waife abwra

sy (37T 1Tl ST e 872

(a) firer, Rremret 39T TR STefary & HROT B aTer eRONRIAT &
VAT T ATHAT T8 B T

(b) STerary aREd BT 3R AR ge7 F AH F I & s
3R WTee do AnfEa

(c) Wi & Seraryg afRaci AR & ST T [aifees Tgeaqor
HROT &I

(d) STerarg uRac 3R waw & S weawy ondY oft Wt v H
FHHAT TE T B
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Passage-7

Many farmers use synthetic pesticides to kill infesting
insects. The consumption of pesticides in some of the
developed countries is touching 3000 grams/hectare.
Unfortunately, there are reports that these compounds
possess inherent toxicities that endanger, the health of
the farm operators, consumers and the environment.
Synthetic pesticides are generally persistent in
environment. Entering in food chain they destroy the
microbial diversity and cause ecological imbalance.
Their indiscriminate use has resulted in development of
resistance among insects to insecticides, upsetting of
balance in nature and resurgence of treated
populations. Natural pest control using the botanical
pesticides is safer to the user and the environment
because they break down into harmless compounds
within hours or days in the presence of sunlight. Plants
with pesticidal properties have been in nature for
millions of years without any ill or adverse effects on
the ecosystem. They are easily decomposed by many
microbes common in most soil. They help in the
maintenance of biological diversity, of predators and
the reduction of environmental contamination and
human health hazards. Botanical pesticides formulated
from plants are biodegradable and their use in crop
protection is a practical sustainable alternative.

gfeve.7

TR Plererl BT IR Ht &1 Po Rl ot F ar
ieTeT! 6 TuT 3000 AT FRT RN Tb TG & &
gufaaer, & o Raié 8 f5 W At & safifea
TR i & ST Wit BR aTell &, STHIHIS $ FaRey
3R gIfaRuor & @ER H Sl 81 wHRE dieAres
WA GATaRT H SRR & Y6 ol WTE-$[Ee § yaer
R T gEnifee e @& 98 &= aRfvaRe
(SPICATToTaeT) ST ICU=T B Bl $h STETHY SUART
% gRUTTEaRY et § hierern! & freg uferry el
T &, HTpferep ger § TSt g3 & Sk R it ar
wﬁmww% aﬁwﬁaané%l CIE e inE
ﬁw&mme@wmwﬁmmmﬂw PRAT 3P
SUANTRATST Td qaTaRoT % fAQ STargp JRI B
FAfE I GF & Heprer Ht Hicpeh § $o ek srerar R F &
gIfrfed diftt & ge S 81 drearelt ferwarelt & I
oter ara ant |/, TIRRRIRTE 7 ) S @RE a1 ufge
TG STet foT, Iy # Hiorg 21 srfereter TaTalt § R
wmﬁﬁmﬁmv&qﬁﬂaﬁmﬁﬁaﬁam
T & T wufEy ﬁﬁﬁwﬁﬁwaﬁmwﬁaﬁ?
TTEROTIRT HEWUT oIt FST & TR [ahel B 9 PR 7
HE™d gl el ¥ §9Y Y gERafae Hledesd o
frrfiezolia (FREReTe) 8t & 3fiR e JR&T H S9aT
IR AT ARG BT A T TR freped 81

47. On the basis of the above passage, the following
assumptions have been made:

47. S94wh UREDT ¥ MR R Frafafad gaumom g
TEE:

1. Synthetic pesticides should never be used in 1. amufe B F GART BleTrEt BT STIRT F oY
modem agriculture. ’ > < ’
2. One of the aims of sustainable agriculture is to TE T At .
ensure minimal ecological imbalance. 2. Wﬁugﬁraﬂwa&wwmﬁﬁaﬁmm
3. Botanical pesticides are more effective as aﬁgﬁﬁam%l
compared to synthetic pesticides. 3. grufde Hlienered, SRR dieamereal 6 JorT ¥,
Which of the assumptions given above is/are correct? 3TRIF TSR B B
(a) 1and 2 only SR QRO 3 9 B e
(b) 2only (a) ¥aer13iR2
(c) 1and3only
(d) 1,2and3 (b) a2
(c) ¥aer13iR3
(d) 1,23R3
48. Which of the following statements is/are correct 48. S dieamerenl & fwg & Frafafad weE F ¥ -
regarding bio pesticides? AU TE B2
1. They are not hazardous to human health. 1. I AT v & fT WaRATE T §
2. They are persistent in environment. 2. FuaferoT ¥ FAR T &S B
3. They are essential to maintain the biodiversity of .
any ecosystem. 3. g fopslt oft miRRrerfere o &t St fafererar a0 o=
Select the correct answer using the code given below. & forg srferard &
(a) lonly 2 g g Foe 1 7T AN A ST R
(b) 1and2only (a) Paer1
(c) 1and3only (b) Faer13iR2
(d) 1,2and3 (©) ¥aa1 3R 3
(d) 1,23R3
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Passage-1

An air quality index (AQl) is a way to combine
measurements of multiple air pollutants into a single
number or rating. This index is ideally kept constantly
updated and available in different places. The AQl is
most useful when lots of pollution data are being
gathered and when pollution levels are normally, but
not always, low. In such cases, if pollution levels spike
for a few days, the public can quickly take preventive
action (like staying indoors) in response to an air
quality warning. Unfortunately, that is not urban India.
Pollution levels in many large Indian cities are so high
that they remain well above any health or regulatory
standard for large part of the year. If our index stays in
the Red/Dangerous’ region day after day, there is not
much any one can do, other than getting used to
ignoring it.

gReee-1

Y UK J[ahiP (R FATere! SSaTA-AQI) T&T A AT Tguepi
T ATOT BT et TEAT STAT ST (M) ¥ Srsas feam &t
TP TAPT 21 IMEef B H, I BB DI AT B A AT
(3TTST) TATY T@T AT § 3R I5 fafireT i ux Sueresr gar
&l AQI Fafftes SRt a9 BT & 99 980 AR HguUT-ties
T3 AT ST ¥R &, 3R ST Hewur & W, sﬁerraﬁé’raﬁo—-r
sm?ﬁ'\rq'\rﬁ"-‘—rw?r@lsqaemﬁﬂr I ygEuTR o AT &
1T 3raT e 9e Y, aﬁmmmﬁaﬁﬁaﬁuﬁrﬁm ¥
sﬁﬂmﬁﬁﬁ%m(ﬁﬁﬁ?wﬁﬂﬂwwmﬂmﬁ%
QUi S, e RS Y gleret QR TE &1 B TSURAY el H
TENUI-RR S 31 8T § o O af & SaeTeR Rt # vy
& HEDI AT RIS @l W HUR a9 Ed 8 afE gART
FEHd T R R ATaaa™e SRR # 97 I8 g, ar fonsdt
& fAQ +ff SATRT P8 B ARID TE! o1 e s o ST
JUETT AR Y 3T &7 ol

61 Which among the following is the most logical and

rational inference that can be made from the above

passage?

(a) Our governments are not responsible enough to
keep our cities pollution free.

(b) There is absolutely no need for air quality indices in
our country.

(c) Air quality index is not helpful to the residents of
many of our large cities.

(d) In every city, public awareness about pollution
problems should increase.

61 Sugw ufeos ¥, Frafafad & & $i-a1 waifre aifees
SR T Forseny (37WRRT) FHeBTeT SIT WepaT 82

(a) TAR TERT BT UG- & & TG g9 RS 7o &
& e 78 &

(b) TR 9T ¥ Y T GABiR! Y Reper & amaegmar TE
Bl

(c) TR TS & qga-& fFraRral ¥ g ary qoraT qawiE
WERH LT 81

(d) TS AR H, TUULTETH AR $ IR A oF-
SIRRAehCT g1 <ATTRTl

Passage-2

Productive jobs are vital for growth and a good lob is
the best form of inclusion. More than half of our
population depends on agriculture, but the experience
of other countries suggests that the number of people
dependent on agriculture will have to shrink if per
capita incomes in agriculture are to go up substantially.
While industry is creating jobs, too many such jobs are
low-productivity  non-contractual jobs in the
unorganized sector, offering low incomes, little
protection, and no benefits. Service jobs are relatively
of high productivity, but employment growth in services
has been slow in recent years.

uRede-2

IeuTE AtwiAr (Sie) e & g Fewu & ofiR st Atedt
[T TR BT AATAL 81 FHRY 3TeRT ¥ e Srewiear iy
R, TR o Seit & 3wa 9 uaT it & fh afr i F
afty safts 3 wafe wu H ger 8, @ PRy R ik afmar 6
T H T A AN et U 3R e F At it A
ST @ 8, a8 eRifo & A Rt agd wnt At e
T & SRTER AT & SIRA 2 TAT IS federm T Ry Sen g7eht
T ¥ WaT-8r &Y HieRat Soa Icuradar et gl € R
arai & AoFTR-gRg &Ter & ot F fhft & 2

62. Which among the following is the most logical and
rational inference that can be made from the above
passage?

(a) We must create conditions for the faster growth of
highly productive service jobs to ensure
employment growth and inclusion.

(b) We must shift the farm workers to the highly
productive manufacturing and service sectors to
ensure the economic growth and inclusion.

(c) We must create conditions for the faster growth of
productive jobs outside of agriculture even while
improving the productivity of agriculture.

(d) We must emphasize the cultivation of high-yielding
hybrid varieties and genetically modified crops to
increase the per capita income in agriculture.

62. ST uRens K, Frafafad § & -1 waifie arfhe

SR TR Forsamed (37RRT) FoepTerT ST HeparT &2

(a) ARG SR THEALE & YA a1 & fag
ISP ISP AAT-8F PT ABRAT &b FraaR Ry $Hr
TRRIRET B e~ BT AT Bl

(b) MRfw gfg iR FwmEed & |EA & & fag &
YRR PRI @ 3t Seures fafsmior ik dar-
&t & TAFIART BRAT STaTD Bl

(c) T P Y ICUTHAT TS $ WS- PRI-&F T TR
PRAT ATTITD Bl

(d) P& ufer safer 3T & gfg @™ & forg & S==r Su arert
wax fee iR omgafiea: wulaRa  (GRfewet
HifEWIgS) FRcl B Wil UR e AT ATTeUP Bl
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Passage-3 gReDe-3
A landscape-scale approach to land use can encourage | yfif SUART F gy Y9 % SURTH (31 A, I & &
greater biodiversity outside protected areas. During | gray 3iix a1 ST RfreraT @Y WicaTsT firer WahaT &1 a¥ 1998
practices sufered 53 prcent, 70 prcent and 99 percent | 12T (€4 B & i, e pft ot i
Ipess damage in HonZuras, ’Nicangua and Gua:’emala, ) mﬁ. aﬂ-’. B s 31?1'
respectively, than farms using conventional techniques. In ik et ¥, gpwer: élguu frrmn asir 3 ¥ 58
Costa, vegetative windbreaks and fencerows boosted | FRTeI, 70 Tftrera 3iix 99 WHWW T3l PRI
farmers’ income from pasture and coffee while also | ¥, aFRUfIE aATT-RTei (ﬁ%ﬁm Sﬁ'\’waﬁ'l'\ﬁ'aim 3,
increasing bird open diversity. Bee pollination is more qgﬁ.ﬁﬁwﬁ'qﬁga;m.m,ﬁmﬁ}zﬁmaﬁ?mﬁ
effective when agricultural fields are closer to natural or BN aTe o ¥ oIcafe dea) g5 WIpfad o ard-
sercont of the worid's 107 teating crops depend, on | TTER M %5 Frmeee pft it S s mepeert & Y
animal pollinators. In Costa Rica, Nicaragua and Colombia . R BRI E, &, 7E fread g \ Fg,
silvopastoral systems tint integrate trees with mﬁ{aa‘ﬁ‘ 107 37Ot t¥feil T 87 HRTeTT ORI & l.I aret
pastureland are improving the sustainability of cattle \_rlf[i"ﬁq'\"ﬁ‘ﬁ'\’%l HIRCTRET, ﬁw@maﬁ'\'m ¥, & -
production, and diversifying and increasing farmers’ | geren®Y (Raeatareever) Hunfert, R Os axrme-yfirl & |rer
income. Tl &, T-SeuTa o eRUTRICT # U o7 <& € 31k et

& o ¥ ffererar oiiv aftg o w6 &1
63. Which among the following is the most logical and

rational inference that can be made from the above | 63- WW 9, ﬁ’*"ﬁ"ﬁﬁ' q 9 BT e difhe
passage? 3R T forse (37wRT) feeTerT ST Seher 872
(a) Agricultural practices that enhance biodiversity can | (a) S fifereraT @t ag™ arelt By gt wmwr: Bt SeaeT 3
often increase farm output and reduce the gfy 3k U3l & Uiy SRRIAaT @Y B9 #Rat 21
" Xl::n:rab“ity t? dis?st:rs. 4 should b ) (b) éw ¥ @it dof @Y gt "ﬂ Y N = ]
O e eninee eea spricdture. with comentional | FT 7Y g shewnfe s anfe
agriculture. (c) WRféra &= #, asf & S fafoear @ 9w fpy famm,

(c) Eco agriculture should be permitted in protected ERICRUID] ?ﬁzﬁmam ELURN] ]
areas without destroying the biodiversity there. (d) @=I Bl Y SUST a9 3rcARE BRNY, ST AT W F

(d) The yield of food crops will be very high if eco Wﬁquﬂw?ﬁqaﬁﬁmml

agricultural practices are adopted to cultivate them.

Passage-4 TReg-4
The medium term challenge for Indian manufacturing is ””E.“q ferferstor & forg wearafr T e, .I T | g St
to move from lower to higher tech sectors, from lower to a5, IR | ST q@aﬁjﬂ' &t 3R e | ST
higher value-added sectors, and from lower to higher | IcuTamaT &5 Ht R TG BT 31 7e Hienfre el § T
productivity sectors. Medium tech industries are | wg & arcafye Yot offt Bl & 3R S99 WATYAT BT UhH0T
primarily capital intensive and resource processing; and grar & ek Bt—;m S Y T BT ¥ arcafe oo
i toch s re iy ol v s | i s it ) Segfcon 3 e e
overall GDP to the projected 25 per cent, Indian e 25 qﬁﬂ,ﬁw : aﬂ%ﬂ &}._’riﬁ' ferer
manufacturing needs to capture the global market in E!G“qa; WMW%‘G!'WZ&WW%,WW@
sectors showing a rising trend in demand. These sectors | AT & HgfT 81 37 &1 § aiRrpier wa & Iear Hienfiredr 3R

are largely high technology and capital intensive. t!\Gﬂ'?vl’lﬁ‘ RIS

64. Which among the following is the most logical and 64. ST IREDT W, FrafaRad § & PH-aT1 waiies aifhe

rational inference that can be made from the above aiR «"Iﬁ‘l‘ﬁﬁ'@d’ (?ﬁm IBTET ST T 22

passage? e . N 'E it

(a) India’s GDP displays high value-added and high (@) =ETd IR P13 aret . 7,
productivity levels in medium tech and resource MRT $T GDP, S=a Q"’uama AT o SeUTh FeRi Bl
processing industries. gerfeht &1

(b) Promotion of capital and technology intensive (b) YR ¥ arcafie q\Gﬂ' 3R HrenfirhY arer frfmfor & dad=
manufacturing is not possible in India. HET TG T8 2l

(c) India shouldhpusir up tl.me public invgstments a;\nd ] (c) WRa @, W w4 R, SNt s 3k Blerer
encourage the private investments .|n researc' an foreprer 3, TR FRIT TETAT TRy AR e-weaTs Fren
development, technology upgradation and skill -
development. ST AT At Lo

(d) India has already gained a great share in global (d) 9RA 7 uger A & freramoR & 37 &= 7 g7 fevmar wmw

markets in sectors showing a rising trend in demand. P farg, ﬁﬁﬁaar-’i’rgs‘qﬁa?rngﬁr%l

Separate explanation videos are available in English & Hindi | 3@t 31X &Y & 3rerer-arerer fifda sueer §
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Passage-5

Over the last decade, Indian agriculture has become
more robust with record production of food grains and
oilseeds. Increased procurement, consequently, has
added huge of food grains in the granaries. India is one
of the world’s top producers of rice, wheat, milk, fruits
and vegetables. India is still home the quarter of all
undernourished people in the world. On an average,
almost half of the total expenditure of nearly half of the
households is on food.

gfese-5

froet g & SR YRR PfY, @ T RieeT a1 Rere
SoueT B & W, SR AR g & 41 e
aRemRasT 96t g8 a¥E W@#m—ﬁ%ﬁm#
Waﬁaﬁsé%lmawﬁgwwﬁam%ﬁﬁr&r
aveﬁée—maﬁ#ﬁw%lﬁwﬁﬁrwa?wmmm
wﬁ%mw#%mﬁwmﬁ,%&r%wﬁﬂﬂs
T 3Te IRERT § $T I BT T ST & o IR

BT &
65. Which among the following is the most logical 65. frriferRae & & S-wT SuGH uReos &1 waifts aifds
corollary to the above passage? SUferm= (Ebél'\ﬁ?flﬂ') 2?2

(a) Increasing the efficiency of farm to-fork value chain
is necessary to reduce the poverty and
malnutrition.

(b) Increasing the agricultural productivity will
automatically eliminate the poverty and
malnutrition in India.

(c) India’s agricultural productivity is already great and
it is not necessary to increase it further.

(d) Allocation of more funds for social welfare and
poverty alleviation programmes will ultimately
eliminate the poverty and malnutrition in India.

(@)

TRIET 3R FUITOT BT B B B AT AF-F-2ATAT (BTEf-g-
i) T 6T Tod YT BT FETAT F TSI PRAT STAT
|

(b) Ty ScuTEHaT F TRIAY FI F R F T & WGy

(c)

(d)

3R FUIYoT R & ST

"R &Y PR Ieuredar TE A & I o & iR T
3R 3rfres T ST ST &Y Bl

AT PeaTeT SR T I SRl & g siftre
fifr @7 et FR F YR | TG iR pUIwor BT
3T ST & ST

Passage-6
The States are like pearls and the Centre is the thread
which turns them into a necklace; if the read snaps, the
pearls are scattered.

gRese-6

TS ARRN & T & TAT $75 I8 UFT 8 S I IR F
fRIar 8; af¥ e ge S, &t Ak R o 2

66. Which one of the following views corroborates the

above statement?

(a) A strong Centre and strong States make the
federation strong.

(b) A strong Centre is a binding force for national
integrity.

(c) A strong Centre is a hindrance to State autonomy.

(d) State autonomy is a prerequisite for a federation.

66. frrfaRad et & F SF-01 & I B i 7Yy
PRATR?

(a)

(b)
(c)
(d)

afeperell ds SR erfeperrel ST, T HOET W@E
(F=XeF) SEY &

AfeReATelt s, ISR IFEUSAT 3 e FeTpTRY 20feh 2
9TRRperTel) g, ST TRIRIAT & aTeT 21

Ty Y TR, §Y (Hever) & forg gafdar 1

Passage-7

Really | think that the poorest he that is in England has a
life to live, as the greatest he, and therefore truly, |
think it is clear that every man that is to live under a
government ought first by his own consent to put
himself under the government, and | do think that the
poorest man in England is not at all bound in a strict
sense to that government that he has not had a voice to
put himself under.

aReve-7

I H, ART I & o Seie o Frefam cafeh @1 off @
& g AT & ST b weae cafes @, SR swaferg w4,
¥ wrar € f5 7€ v § 6 & 9% aafth @, o wRaR &
3N R ST A1RY, AR ART Ig 3@ AT & & Fois a1
fereferT cafeh, Wt aref & Rt WRBR F Barg Forr gor & @
T 3TeiT ¥ &Y B F DT IS I A& & BN

67. The above statement argues for

(a) distribution of wealth equally to all

(b) rule according to the consent of the governed
(c) rule of the poor

(d) expropriation of the rich

67. U HUT fpeTch ATl ¥ T IR T 87

(a)
(b)

FHART BT ATDY T fra=or
TRyl Y HEHRT & TR LT

(c) forefT & arer & oA

(d)

gfe1ep! BT TacaaRoT (TRANIge)

Separate explanation videos are available in English & Hindi
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